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6.6  Practice Set 

    Graph each of the following relations and determine whether or not each represents a 
function. Is it one-to-one? Give the domain, range, x-intercept(s), y-intercept(s), and 
any asymptotes. 

1.          𝒚 = −|𝒙| + 𝟐 

2.          𝒚 = (𝒙 − 𝟓)𝟑 − 𝟏 

3.          𝒚 = −√𝒙 + 𝟒 

4.          𝒚 = −
𝟏

𝐱+𝟑
− 𝟏 

5.          𝒚 =
𝟏

(𝐱−𝟏)𝟐
+ 𝟐 

6.          𝒚 = √𝒙 + 𝟐 

7.          𝒚 = 𝟑(𝒙 + 𝟏)𝟐 − 𝟐 

8.          𝒚 = −𝟐𝒙𝟐 + 𝟔𝒙 − 𝟏𝟐 

9.   𝒙 = 𝟐(𝒚 − 𝟑)𝟐 + 𝟐 

10. 𝒙 = 𝟑𝐲𝟐 + 𝟔𝐲 − 𝟏 

11. 𝒙𝟐 + (𝒚 + 𝟐)𝟐 = 𝟗 

12. (𝒚 − 𝟏)𝟐 −
𝒙𝟐

𝟗
= 𝟏 

13. 𝒙𝟐 + 𝒚𝟐 + 𝟔𝒙 − 𝟒𝒚 = 𝟏𝟐 

14.  𝟐𝒙𝟐 + 𝟗𝒚𝟐 − 𝟕𝟐𝒚 + 𝟒𝒙 + 𝟏𝟐𝟖 = 𝟎 

15.  𝒚 = −𝟐𝒙+𝟏 + 𝟑 

16.  𝒚 = 𝐥𝐨𝐠𝟑(𝒙 − 𝟐) + 𝟒 

17.   𝒚 = 𝒆𝒙 − 𝟓 

18.   𝒚 = −𝒍𝒏(𝒙 + 𝟐) 
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Distributed Practice Problems 

 For each of the following pairs of functions, find the compositions (𝒇 ○ 𝒈)(𝒙) 𝐚𝐧𝐝 (𝒈 ○
𝒇)(𝒙) and give any restrictions on the domain of the resulting function. 

 

   

19.  {
𝑓(𝑥) = 3𝑥 − 5

𝑔(𝑥) =
1

2𝑥

 

 

20.  {
𝑓(𝑥) = 2𝑥2 − 5𝑥 + 3

𝑔(𝑥) = 𝑥 + ℎ
 

 

        

     

 


